CLASIFICACION CONJUNTA TODOS LOS GRUPOS

1 | 1 |BEGONA/BEGONA 6 7 |2]2]o]o]9]|0]+9
2 | 1 |TIPHI/ JACKIE 6 3 |2|2|ojo|8|0]+8
3 | 1 |J. MANUEL/ TOMAS 6 1 |[2|2|oflo|7]|0]|+7
4 | 1 |VICENTE/JAVIER 6 10 |2|2]|o|o| 7|0 +7
5 | 1 |JAVIER / PEPE 6 6 |2|2]lojo|6|0]+6
6 | 1 |DEAN/ MANUEL 6 4 |2]2|0|l0|5]|0]+5
7 | 1 |ARACELI/ ESTHER 6 8 |2]2]|0|0|4]|0]|+4
8 | 1 |ALFREDO / CHICO 6 9 |2|2]|0|0o|l3|0]+3
9 | 1 [MANU / MARNIX 6 5 |2|2[o]o]2]|0]|+2
10 | 1 [MIGUEL/JUAN JOSE 4 2 |[2]1]|1|0|4| 0] +4
11 | 2 |ARIAN /JOSE JUAN 4 2 |2|1[1]o]2| 0] +2
12 | 2 [LUIS/ PACO 3 1 |[2|1|of1|5]| 1] +4
13 | 2 [JOSE LUIS / ESTEBAN 3 3 |[2]1]o|1]|4]| 2] +2
14 | 2 |PACO / ALFONSO 3 5 |2f1fofj1]1|1] O
15 | 2 [J.CARLOS / JESUS 3 9 |2f1fof1]2]2] 0
16 | 2 [KARL/ M2 ENCARNA 3 10 |2|1]0|1|2]2] O
17 | 2 |PEPE/J. PEDRO 3 6 |2[1f{oj1]2|3]-1
18 | 2 [JAVIER / JOSE LUIS 3 4 |2|1]o|1|1|4]| -3
19 | 2 |ANDREA / BEGONA 3 7 |2|1f{o|1]1|5]| -4
20 | 2 |MANUEL/ MARCOS 1 8 |2|o|1|0]l0f1]-1
3 |CARLOS/RAMON 1 8 |2|o|1|0]l0f3]-3
3 [JOERG/ZOE 0 5 [2]o]|o|1]0]|1]-1
3 |RACO/LUIS 0 9 |2]o0|o0|1]0]| 2] -2
3 |MARCE/FERNANDO 0 6 |[2]|0]|0]|2]0]|3]-3
3 |GEOFFREY-/EDDY 0 2 |[2]o|o|1|o]|6] -6
3 [MIGUEL/FELISA 0 10 |2|o0|o|2|0| 7] -7
3 |BORJA/IAVUER 0 7 |2]o0|o|2]0]|9]| -9
3 [JUHO/ALBERTO 0 3 |[2]o0|o|2]|0]10]-10
3 |JUAN-LCRISTOBAL 0 1 |2|ofof2]0[12]-12
3 (LS /LOLA 0 4 |ofolojlojo|lO]| O




